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(3) Z3g9 iT7 B (Hspicesimulation» M H ¢ - = HH ¢ - Blabi &)

Schematic:

Hspice code:
title test
Jib E:\n0O5mixddst02v231.lib tt
vdd vdd 0 5
vssvss00
.Ssubckt opamp vn vp out vdd vss
ml2vn1l1mpw=120ul=1u
m2 3vp 11 mpw=120u I=1u
m3 2 2 vss vss mn w=40u I=1u
m4 3 2 vss vss mn w=40u I=1u
m5 1 6 vdd vdd mp w=16u I=1u
m6 out 3 vss vss mn w=160u I=1u
m7 out 6 vdd vdd mp w=32u |I=1u
* bias circuit
m8 6 6 vdd vdd mp w=3.2u |=1u

m9 7 6 vdd vdd mp w=3.2u I=1u



m10 6 7 8 vss mn w=6u I=1u

m11l 7 7 9 vss mnw=6u l=1u

m12 8 9 10 vss mn w=24u |=1u

m13 9 9 vss vss mn w=6u I=1u
rb 10 vss 6k

*miller

cc 4 out 1.5p

cl out vss 3p

m14 4 7 3 vss mn w=20u I=1u

.ends

x1 vn vp out vdd vss opamp
X2 vp vp outl vdd vss opamp
x3 out2 vi out2 vdd vss opamp
x4 vn vn out3 vdc vss opamp
x5 vn vn out4 vdd vsc opamp
vpvpOdc25acl

vhvn0dc25

*ADM

*ACM
*SR

*pPSRR

*nPSRR

vi vi 0 pulse(2 3 20ns 0.1ns 0.1ns 200ns 400ns)

vdc vdc 0 dc=5 ac=1v
vsc vsc 0 ac=1v

.ac dec 10 1k 100meg
.trans 1n 400n

.ptint ac v(vout) v(3)
.print trans v(out2)

.print ac vdb(out) vp(out)



.print ac vdb(outl)

.print ac vdb(out3)

.print ac vdb(out4)

.measure ac GBW when vdb(out)=0
.measure ac VPW when vp(out)=-120

.0p

.end

Simulation results:
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